i #ER (10 /2~7H)
X 5% % HIE(E HEE
Bl (4 E50cm) | (th E1m)
I 23R A 2 [F 0.11 0.10
AT AT VT4 TS5V R 0.06 0.06
& 2578BHIMIES 1 53 [ 25 ELiE 0.17 0.14
26MH AT 0.09 0.09
2TV TR G H MR 0.07 0.07
5 | 28U AR S A 0.10 0.11
29K TS 0.17 0.15
3055 s DX AL ER 0.14 0.13
A BIsHHII 2 =T 2V E— 0.14 0.14
F | 32H it S 0.12 0.13
[ | 330 A i 0.23 0.21
(B4 ERTH R 2R 0.17 0.16
é 35HE AN KA 0.10 0.11
36HMI M 4 3 Mds B 0.14 0.14
= TR pht: 0.16 0.13
38T B EVHERAN 0.18 0.16
39@ﬁ%¥ﬁﬁﬂﬁﬁi§ 0.11 0.11
ESRESIMNDVOLR 0.17 0.16
MR (412N 0.19 0.17
Ko |42 - F LY 0.16 0.14
BREII =TV E— 0.13 0.11
A44SR 6 57 [ 2 ELE Y 0.17 0.15
o |45 T & 0.15 0.14
46 ~/NH LR 0.17 0.15
P T ornmaess 75 0.17 0.15
ALY 2N [RBF A1 57 0.13 0.11
+ |49 LE B2 5 0.12 0.12
1 |50 AR AT 28 0.13 0.13
51BEAREKNE 2 — 0.11 0.10
. 520V R IR Bt be 73 B 0.12 0.12
- 53R E < 5/ 0.12 0.12
5ATHRLAEBHAS HisR T 0.12 0.12
55/MBaI 2T 1k E— 0.16 0.13
5674/ BHe D IH 0.17 0.17
57T MENEY Z7 0.14 0.13
(Ghdbotrz2—H) ' '
/N |58FHD BRI 0.12 0.12
| SRR RE > 2 — 0.14 0.12
60 i RESHAKR 0.19 0.17
6 LHH5 1213 b ShHE 0.07 0.07
62¥ Y 3 T v R fE R 0.10 0.09
63BU>TNTRALY V)V 0.13 0.12
6AR B VIESTZIET VR e e
B | Wi - RER ' '
5 [65HWIRERE LR 0.09 0.09
V655 %95 &I RE 0.13 0.12
S 6647 DN 0.09 0.10
67 TAL ST LNE 0.11 0.12

RSI1F118258(H) BHEIIE

&

!lrh h.ﬁ L:@E;Em

IR AFCEHSIER

QUL EE T AFR T O RGO

¥ #% D % M [ [ N B/ NI
Eﬁéﬁ}:ﬁ%%‘ ﬂﬁétlﬂ E?&Fﬁ%ﬁ’ﬂi
%L%%F@%ﬂﬂ%ﬁbﬁb‘“éﬁamﬂio)y&%
O M AFHHR L ST ELEN IS
ETr TR E 2z OB N2 % 8 £ H o B
e an @z s I HEEEE SR
FE R M SAfATHRY ANER IR
ST w0z W X 2
bk ey -n Hn 1 mERLERE
XU BAEEIENSETE DS
z&)ﬁkﬁofﬁﬁb{fﬁ}bﬁﬁﬁvblﬁu B
%ELC‘NVGH@T:%OFA% fcb‘yﬁ“
T LT x s ~LETEEREOD T on B
b5 058 Ak F Vv R S
LT B I L E XKk K
ZE A EHSH VTR TN NRKR S IR
ABBICED S R %V 5 HTICHBOD
00Ky O 9 T v D B
"RHE S T LR AN G LR T
M @ C L ZE 3Kk LwvTh S
Bz "o _HXCEOR ALY
TRGRI B MDD BERE LD KT
EF RN T T R U LS FENE S
Rl KR SN D B R oI e 8 Ik
o O E T oy & & X Wb
N O AN O (- < I = O B A/ B
f\‘ﬁ,ﬁii&%%faﬁiﬁ}%?ﬁ,ﬂ‘ﬁﬁligﬁ
Erxr ook #fEE — B9 Il
ﬁﬁﬁﬁuﬂﬁgﬁﬁli’ﬁﬂ
rgEETssOY—AIV b

h& AER 10 /2~7H)
% |hE R & W (PR fE M )| BIEME AESE
bl (1 E50cm) | (Gt E1m)
R RORUIER 1)) 0.09 0.08

K PY PN 0.08 0.08
A |3RE3 (EEEHH) 0.07 0.08
o [ADEE 4 GE) 0.09 0.09
5 A HIEEE 1 (B MHD 0.09 0.09

AR ] 6 EAIER 2 (R FT7T 012 o1l

B| SRR (D ' '

% 79HN (FE) 0.08 0.08
|8 bM< E Wik 0.08 0.08
9/ (hsR) 0.10 0.11

1028 (CB{K) 0.12 0.11
LIRS (BFEHD 0.11 0.09

5 (1228 (PR 0.10 0.10
e 135 G @) 0.09 0.10
K 14HRKG (heks) 0.12 0.10

S 15 (k) 0.10 0.10
161/ (EEMD 0.10 0.10

174 Craki) 0.09 0.09

18/ GV 0.09 0.09

o 194 (0 0.10 0.10

2 20fR4sH (FARHD 0.14 0.13

” 218 GH)ID 0.10 0.11

% 2208 GRO®) 0.10 0.10

X2HXOE 1 HRHEOAR, MEEFEMLTVET,



